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QUESTION 1

View the Exhibit You have defined a compare validation rule on the CommissionPct attnbute of the Employees entity
object such that Commission must be greater than zero. How would you define that the validation rule applies only to
those with the Jobld "SA_MAN" using the declarative features of ADF Business Components? (Choose the best
answer.) 

A. Remove the current validator and, instead, write a method validator in Java and use an if statement to check the
value of JoblD. 

B. Remove the current validator and, instead, write a script validator using Groovy and use an if statement to check the
value of JoblD. 

C. Remove the current validator and, instead, write a regular expression validator to check the value of JobID 

D. The entity object has a Validation Execution tab and you use this to set a conditional execution expression Jobld =
"SA_MAN". 

E. Change the literal value in the current validation rule to be if Jobld = SA_MAN then return 0.1 else return null. 

Correct Answer: B 

 

QUESTION 2

Which two statements describe the characteristics of a view object? 

A. it represents a row in the specified database table. 

B. it represents an association between two entity objects. 

C. it encapsulates a SQL query and simplifies working with data from a database. 

D. it allows data to be ordered based on an ORDER clause. 

E. it must include every attribute defined in an underlying entity object. 

Correct Answer: D 

1Z0-419 PDF Dumps | 1Z0-419 VCE Dumps | 1Z0-419 Practice Test                                2 / 6

https://www.pass4itsure.com/1z0-419.html
https://www.pass4itsure.com/1z0-419.html
https://www.pass4itsure.com/1z0-419.html


https://www.pass4itsure.com/1z0-419.html
2024 Latest pass4itsure 1Z0-419 PDF and VCE dumps Download

 

QUESTION 3

Which three options does an entity object automatically implement? (Choose three.) 

A. primary key functionality based on any column in the database that is marked as a primary key 

B. B. not-null functionality based on any column in the database that is marked as not null 

C. attribute precision based on column size 

D. all table check constraints 

E. any table triggers 

Correct Answer: ABC 

 

QUESTION 4

What should be in a managed bean, rather than a backing bean? (Choose the best answer.) 

A. code that manipulates the color of a text field on a JSF page 

B. data that is used to decide if a field is shown as mandatory or not 

C. data that is used on another page in the task flow 

D. code that opens a pop-up in the page 

Correct Answer: C 

 

QUESTION 5

What is the first step you perform to secure an ADF application? (Choose the best answer.) 

A. Edit the web.xml file and adf-confiq.xml file to include the ADF authentication servlet configuration. 

B. Merge the application roles into the deployment server\\'s roles. 

C. Define a lifecycle listener to intercept the HTTP request for the application\\'s URL 

D. Use the Configure ADF Security wizard to enable secunty for the application. 

E. Create a login page and run the application authenticated as the test-all user. 

Correct Answer: D 

 

QUESTION 6

Consider the following code: 
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At run time, a user modifies the value in the af:inputText control, then presses afcommandButton 

Assuming no errors are raised, which option represents the managed bean code invoked in the correct 

order1? (Choose the best answer.) 

A. myBean handleChange, myBean doAction, myBean.qetDestination 

B. myBean.doAction, myBean handleChange, myBean.getDestination 

C. myBean.handleChange, myBean.doAction 

D. myBean.doAction, myBean.handleChange 

Correct Answer: C 

 

QUESTION 7

View the Exhibit 

What does the SetCurrentRowWithKey activity do for this task flow? (Choose the best answer.) 

A. calls a method 

B. calls the updateCustomer page 

C. determines whether the user is navigated to the updateCustomer or callEmployeeTF activity 

D. displays a pop-up that allows the user to enter a value for the current row 

Correct Answer: B 

 

QUESTION 8

you access a page in your auh application mat reters to Dinaings caning auh business components. 
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Which statement is true at run time about the ADF Business Component application module? (Choose the best
answer.) 

A. An application module is automatically instantiated (or each user session and allocated to that user for the life of their
session. 

B. The programmer must instantiate an application module in a JSF managed bean and carry the application module for
the life of the user session. 

C. One application module bean is instantiated and shared by all user sessions. 

D. An application module instance is checked out of the application module pool and given to the user session for at
least that request, or longer depending 

Correct Answer: A 

 

QUESTION 9

Which two statements are true about the Key Exists validator? (Choose two.) 

A. it always issues a select to the database to ensure all data is up to date. 

B. it first checks the cache for match and then goes to the database only if necessary. 

C. it cannot validate any data changes that happened in the current transaction that have not yet been committed to the
database. 

D. it can validate any data changes that happened in the current transaction that have not yet been committed to the
database. 

E. it can be used only with attributes that are defined as primary keys in the database. 

Correct Answer: BD 

 

QUESTION 10

When creating a bounded task flow that uses ADF Business Components, which two steps do you need to perform to
enable the task flow to manage its own transaction"? (Choose two.) 

A. Define transaction properties at the task-flow level 

B. Include a phaseUstener in a managed bean with methods for commit and rollback 

C. Add the application module commit and rollback operations as buttons or links on the last JSF page of the flow 

D. Define task flow return activities in the flow and associate "End transaction" attribute values with them 

Correct Answer: AD 

 

QUESTION 11
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The current page includes the following entries in its page definition file: 

 

 

 

 

 

 

 

Programmatically, in a managed bean, you need to read the current EmployeesView\\'s email into a string. 

You write the following code to do this: 

DCBindingContainer be = (DCBindingContamer)BindingContext.getCurrent 

().getCurrentBindingsEntry(); 

XXXXXX emailBinding =
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